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Question # 5 of 10 ( Start time: 05:10:23 PM, 13 August 2021 ) Total Marks: 1

Let z_ and z, be two points in simply connected domain [

and f ke an analytic complex valted function in IY and C be contour by joining z  and z, then
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Select the correct option ¥ Reload Math Equations
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Question # 3 of 10 { Start time: 05:09:03 PM, 13 August 2021 )

Total Marks: 1

Uszing Cawchy integral formula to compute the value of integral

fz—ﬂ
Z+1

i

dz where f(2) =z —2and z, = —i

Select the correct option & Reload Math Equations
o 2(1 — 24)
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o Im(—1 — 24)
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Select the correct option = Reload Math Equations
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10 ( Start ume: 50012 PM_ 13 Augast 2021 |

[Cobe tue sitnple closed contours with positively oriented s. t C) is exterior and Cy is an inferior. Tf [(2) is analytic in
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MTHEIZ Cue 23 Cmity Start Tiemes: 0453 PR 17 AL

Quiestion £ 7 of 10 { Start time: 04 58 14 PM, 11 Sasguend 7021 ) Tol

| Each simple closed curve C divides the plane into interio
and exterior domains where one is bounded and other is
unbounded. This statement is of .....

Select the correct aption

Green's Theorem

.Cauchy Theorem
Cauchy Goursat Theorem

Jordan Curve Theorem
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MTHOI2 iz # 2 Caiz Start Tame: 04:50 PM, 13 Auguat 2027

Quiestion # 10 of 10 ( Stait tie: 04 5735 PM_ 1] Aaguast 20321 ) Total Marka !

Evplunte fﬂ:]fﬂr uthere O @ 2 (1) =e"for0% t % wundf (&) =1/#
e

Salect ihe correct oplion
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MTHOI2:Oniiz # 2 Quiz Slart Teme: 0450 PM, 13 Auguat 2027

Quiestion # 9.of 10 { Stait tene 0456 73 PM, 13 August 2027 ) Total Marks !

Each simple closed curve C divides the plane into two

domains (connected open sets). One of which is bounded
and is called of C.

Setect the correct ophon

interior

Download More Quizzes Files From

VUANnswer.com

O

exterior
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MTHGIZ Ouix # 3 Caiz Htart Tame: 450 PM, 13 Auvguat 2027

Quiestion # & of 10 { Stait tene 045327 PM, 13 Auguat 20217 ) Total Marks 1
Usmg Cauchy integral farmula to compuse it vakie of infegral
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MTHEIE: Ouir & 2 Chaiz Start Time: 0450 P8, 13 Auvguat 2037

Quiestion # T of 10 | Start tem= (45455 P, 13 Auguas 20217 § Total Marks: 1

Mathematically, the functions in Green's theorem will be

L
Continuous derivatives
O

Discrete derivatives
O

'Discrete partial derivatives
O

Continuous partial derivatives
O
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MTHEIZ : Ouix & 3 Chaiz Sart Time: 04:50 PM, 13 Auvguat 2027

Quiestion # B of 180 [ Stait tene 45537 PM, 13 Augusl 2031 ) Toltal Marks 1

A curve is said to be .... if it is constructed by joining finitely
many smooth curves end to end

Gpdect the porrect ophion

disconnected
O

contour
Q

continuous
O

discontinuous
)




i m a e  mmem R s e g e o ———

Quiestion # 5 of 10 { Start tene 045255 PM, 11 Augua 2027 ) Total Marks |
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MTHGIZ Omiz # 2 Cuiz Sart Temee: 04:50 PM, 13 Auguat 2027

Quiestion # 4 of 10 [ Start tene 045217 PM, 13 Auguat 20217 ) Todal Marks 1
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Duestion # Jof 10 [ Stait tene 02:57.30 PM, 13 August 2021 ) Todal Marka. 1

If the interior of every simple closed contour C is contained
in the domain D, then domain is said to be....

Seuc e sorret opion
None of above
O

"Unbuunded
@)

Disconnected
)

Simple connected
o)
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Question # 6 of 10 { Start time: 04:11:08 PM, 13 August 2021 ) Total Marks: 1

If C iz positively criented unit circle e {C: [z]=1} then

2z
e
—dz
/5
i
1]

Select the correct option  Reload Math Equations
D 4m
O 2m
Q Gm
G Jm

Click to Save Answer & Move to Next Question



MTHGIZ Ouiix # 3 Caiz Ftart Tomee: 04:50 PM, 13 Auguat 2027

Chiestion # 1 of 10 { Start tene 04 50.00 PM, 13 August 20217 § Total Marks |

I Dapetbon f ls continaoas b sinple conneeted domain [ sl fﬂsp&r ot every closed contour © in I, then f s analytic i I
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MTHGI2:Omiiz # 3 Caiz Fart Tome: 04:50 PM, 13 Auguat 2027

Cuiestion # 2 of 10 { Stait tene 04 5053 PM, 13 Auguast 2021 ) Total Marks 1

I € sumple closed contour with pontively onented soch that fived complex vahae z.hes intenor to C,
then for mteger o # 1| we hove,
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MTHG3Z-Cuiz # 3

L S
Quiz Start Time: 04:03 PM, 13 August 2021

Question # 2 of 10 { Start time: 04:04-16 PM, 13 August 2021 )

Total Marks: 1

Evaluate ff{:.]dz
Ly

where C: z(t) = elfor0< ¢t <= andf(z) =1/z

st ot o
0 —2m
D —
T 2ot
e

2 LAy
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Question # 4 of 10 { Start time: 04:06:54 PM, 13 August 2021 ) Total Marks: 1

Evaluate the integral ff{z}dz where O 1 z(t) = et for0 = t < mandf (&)= ll."a2
i

Select the correct option

* Reload Math Equations
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MTHG632:Quiz # 3 Quiz Start Time: 04:05 PM, 13 August 2021

Question # 7 of 10 { Start time: 04:11:48 PM, 13 August 2021 ) Total Marks: 1

Conasider contour C : z(t) = " = Cost + i Sint be counter clockwise where — w/2 < ¢ < w/2 then the integral

fi{t]c!z:

[

Select the correct option

© Reboad Math Equations
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Juestion # 3 of 10 ( Start time: 10:55:08 AM, 13 August 2021 )

Using Cauchy integral formula to compute the value of integral

z—2
dz wh z2)=z—2andz, = —1
fz+: z where f(z) and z, i

C

Select the correct option
O 2m(—1 — 2i)
O 2m(1 — 2i)
O 2m(1 + 2i)
O 2m(—1 + 2i)




Question # 6 of 10 ( Start time: 11:05:38 AM, 13 August 2021 )

if C is positively oriented unit circle i.e. {C: [z|=1} then

—dz
z3
is
Select the correct option
O Jmi
A || o
= || -
4m
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MTHG632:Quiz # 3 Quiz Start Time: 04:05 PM, 13 August 2021

Question # 3 of 10 { Start time: 04:07:55 PM, 13 August 2021 ) Total Marks: 1

Evaluate ff[z}-ﬂ'.z where C: z(t) = (x +iy)t fora = ¢ < band f(z) = i
z
iRy

Select the correct option

® Reload Math Equations

Inb—Ina

O

(Ina)

O (In b}

Inb+Ina

(Ina)(ln k)

Click to Save Answer & Move 1o Next Queation
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MTH632:Quiz # 3 Quiz Start Time: 04:05 PM, 13 August 2021

Question # 9 of 10 { Start time: 04:14:00 PM, 13 August 2021 ) Total Marks: 1

If function f is continuous in simple connected domain I and f_f[z}-ﬂ'.z for every closed contour C' in I, then f is analytic in D.

i
This statement 1s of:

Select the correct option % Reload Math Equations

Cauchy Goursat Theorem

Cauchy theorem
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Green's Theorem




MTHE3Z:Cuiz # 3

Question # 8 of 10 ( Start time: 04:13:18 PM, 13 August 2021)

Select the cormect option

Guass Mean value Theorem
O

Cauchy Goursat Theorem
O

De Movire's theorem
O

Green's Theorem
O

Morera’s Theorem is the converse of ...

L G 4 P
Quiz Start Time: 04:03 PM, 13 August 2021

Total Marks: 1



MTH&3Z:Quiz # 3 Quiz Start Time: 04:05 PM, 13

Question # 2 of 10 { Start time: 04:06:45 PM, 13 August 2021) T

Let f(t) be continuous function on contour C and L be length of C. For all t in contour C , |f(t)| < M then

Select the correct option m
@) |f_f|{t]|clt|::-}.{[.
O

o |[f|{t]ldt|-c:ML

| f f(t) dt | < ML
/

O
e |ff|:t:|crt|,:3m

Click 1o Save Anawear B Move 1o Mext Clue
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MTHG3Z-Quiz # 3 Quiz Start Time: 04:03 PM, 13 August 2021

Question # 6 of 10 { Start time: 04:11:44 PM, 13 August 2021 ) Total Marks: 1

If f(z) 15 an analytic function in domain D) then for n = 0 where n is a positive integer,

Select the correct option = Reload Math Equations

0 MNone of above
O £ {2} is analytic in disconnected D
G f[n:'{z} 15 not analvtic in simple connected I

0 f':n:'{z} 15 an analytic in simple connected [

Click to Sava Answer & Mokis o Next (hiestio



Question # 8 of 10 { Start time: 04:12:53 PM, 13 August 2021 )

Total Marks: 1

A domain D that is not simply connected is...

Select the correct option

multiply connected
O

doubly connected

none of above

triply connected
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ton and C' and — C be the contours with same geometrical represent




MTHE3Z-Ouiz # 3

L

Quiz Start Time: 04:03 PM, 13 August 2021

Question # 2 of 10  Start time: 04:04:16 PM, 13 August 2021)

Total Marks: 1

Evaluate ff{;]dz
iy

where C: z(t) = elfor0< ¢t S w andf({z) =1/z
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MTHEIZQuiz # 3 Quiz Start Time: 04:03 PM, 13 August 2021

Question # 1 of 10 { Start time: 04:03-16 PM, 13 August 2021 ) Total Marks: 1

Let o lres in the mt ertor of contour C and

Folz) = anz" + Bn-12""! + ap-22"" 2 +... +a12 + a,2”
FalZ) ;
then the value of dzis... whenn =3
Z—
i
Select the cormect option P Reload Math Equations

'I:} 2w, ()
'G 2wy, ()
O 2rPy(a)
'D 2miPy(a)

Plick to Baugs Angidier & Mola to Mot iastior



Question # 10 of 10 { Start time: 04:03:08 PM, 13 August 2021 )

Total Marks: 1

A domain D that is not simply connected is...

Select the correct option

none of above
0

doubly connected

triply connected

multiply connected
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MTHG632:Quiz # 3 Quiz Start Time: 03:55 PM, 13 August 2021

Question # 9 of 10 ( Start time: 04:02:31 PM, 13 August 2021 ) Total Marks: 1

A curve C is said to be a contour if it is constructed by
joining finitely many smooth curves end to end.

Select the correct option

False

O

True




Total Marks: 1

niours with same geometrical representation but opposite in direction. Then f f(z)dz =
-

= Reload Math Equations
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MTHAIZ:Quiz #3 Oz Start Tirme 1257 AM, 17 August 2021

Question # 1 af 10 { Seer ume 1053 24 AM, 17 Auguar 2071 ) Totsl Maths: 1

If {1z} v complez valued fenchion and C and -~ C be the comienrs wrih same geometrienl representafion el opposete m direction, Then "I'._F{IHI -
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Juestion # 3 of 10 ( Start time: 10:55:08 AM, 13 August 2021 )

Using Cauchy integral formula to compute the value of integral

z—12 i
fI+!_dzwh£ref{.}=...—Ecmdzr,:—1

C

Select the correct option
o 2m(—1 — 2i)
O 2m(1 — 2i)
O 2m(1 + 2i)
O 2m(—1 + 2i)




MTH632:Quiz # 3

Question # 1 of 10 ( Start time: 10:51:36 AM, 13 August 2021 )

if the function f(z) is analytic in domain D and simple connected contour C lies in D then

Select the correct option

oJo]o
=
i
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If function f is continuous in simple connected domain 1D and ff{::ldz for every closed contour C in D, then fis
[I‘
This statement is of:

Selec the comect ophon
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|| Cauchy theorsm
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il Cauchy Goursal Theorem
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I} function [/ in an analytic function in nmpls comnected domain where Calg) = [ﬂ'i -E-'.’: |

'
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and H be the radius of cirele, then
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